J. Math. Sci. Univ. Tokyo **20** (2013), 335–347.

Hypersurfaces with Constant Anisotropic Mean Curvatures

By Hui MA and Changwei XIONG

Abstract. In this note, we apply the evolution method to present another proof of the anisotropic version of Heinze-Karcher inequality for hypersurfaces in the Euclidean space, from which the Alexandrov type theorem follows from a standard argument via the Minkowski formula.

1. Introduction

The classical Alexandrov theorem is one of the most remarkable results which states that any closed embedded constant mean curvature hypersurface in the Euclidean space is a round sphere. There are different methods to prove it, for instance, Alexandrov reflection ([1]), application of Reilly's formula ([21, 22]), Montiel-Ros' integration ([18]), a spinorial Reilly-type inequality ([10]), etc. It can also be generalized to many other ambient manifolds or hypersurfaces with constant higher order mean curvatures ([21], [17], [22], [18], [14], [7] and references therein). Recently, S. Brendle ([3]) proved an Alexandrov type theorem in certain warped product manifolds, including deSitter-Schwarzschild and Reissner-Nordstorm manifolds. His proof is based on evolution equations, which seems to have generality.

On the other hand, as a natural generalization of surfaces with constant mean curvature, extensive research has been devoted to studying surfaces with constant anisotropic mean curvature in the Euclidean space in the fields of analysis, geometry and material sciences (cf. [23], [8], [2], [9], [5], [20], [6], [24], [15, 16], [11, 12] and the references therein). Let $F : \mathbb{S}^n \to \mathbb{R}^+$ be a smooth positive function defined on the unit sphere which satisfies the following convexity condition:

$$A_F := (D^2F + F1)_x > 0, \quad \forall x \in \mathbb{S}^n,$$

²⁰¹⁰ Mathematics Subject Classification. Primary 53C42; Secondary 53C40, 49Q10. Key words: Alexandrov theorem, Wulff shape, anisotropic mean curvature.

where $D^2 F$ denotes the Hessian of F on \mathbb{S}^n , 1 denotes the identity on $T_x \mathbb{S}^n$ and > 0 means that the matrix is positive definite. Now let $x : \Sigma \to \mathbb{R}^{n+1}$ be a smooth immersion of a closed orientable hypersurface and $\nu : \Sigma \to \mathbb{S}^n$ denote its Gauss map. Then the anisotropic surface energy of x is defined as follows:

$$\mathcal{F}(x) = \int_{\Sigma} F(\nu) dA.$$

Notice that if $F \equiv 1$, then $\mathcal{F}(x)$ is the usual area functional of x. The algebraic (n+1)-volume enclosed by Σ is given by

$$V = \frac{1}{n+1} \int_{\Sigma} \langle x, \nu \rangle dA.$$

It is very interesting to study the critical points of \mathcal{F} for volume-preserving variations. The Euler-Lagrange equation for this constrained variational problem is

(1.1)
$$H_F := -\operatorname{div}_{\Sigma} DF + nHF = \operatorname{constant},$$

where $H := -\frac{1}{n} \operatorname{tr} d\nu$ is the mean curvature of x. Thus H_F is called the *anisotropic mean curvature* of x. Notice that if $F \equiv 1$ then H_F is nothing but nH.

Among all hypersurfaces with constant anisotropic mean curvature, there is one class of special hypersurfaces which are the generalization of the unit spheres. Consider the map

$$\varphi \colon \mathbb{S}^n \to \mathbb{R}^{n+1}$$
$$x \mapsto DF_x + F(x)x,$$

where DF is the gradient of F on \mathbb{S}^n . We call $W_F = \varphi(S^n)$ the Wulff shape of F or \mathcal{F} . Under the convexity condition of F, W_F is a smooth convex hypersurface and \mathcal{F} is called a *parametric elliptic functional*. When $F \equiv 1$, the Wulff shape is the unit sphere.

Observe that

$$H_F = -\mathrm{tr}d(\varphi \circ \nu),$$

so one can call

$$S_F := -d(\varphi \circ \nu) = -A_F \circ d\nu$$

the anisotropic Weingarten operator of x. Let $S := -d\nu$ be the classical Weingarten operator. Remark that in general S_F is not symmetric, but it still has real eigenvalues $\lambda_1, \dots, \lambda_n$, which are called anisotropic principal curvatures. Similar to the classical hypersurfaces theory, we have the following characterization for the anisotropic umbilical hypersurfaces in \mathbb{R}^{n+1} :

LEMMA 1.1 (See [11, 12]). Let $x : \Sigma^n \to \mathbb{R}^{n+1}$ be an immersed closed hypersurface. If $\lambda_1 = \lambda_2 = \cdots = \lambda_n \neq 0$ holds everywhere on Σ , then Σ is the Wulff shape, up to translations and hometheties.

Let σ_r be the elementary symmetric functions of the anisotropic principal curvatures $\lambda_1, \dots, \lambda_n$, i.e., $\sigma_r := \sum_{i_1 < \dots < i_r} \lambda_{i_1} \cdots \lambda_{i_r}$ for $1 \le r \le n$. Set $\sigma_0 = 1$. Then the *r*-th anisotropic mean curvature H_r is defined by $H_r = \sigma_r / C_n^r$, where $C_n^r = \frac{n!}{r!(n-r)!}$. In particular, $H_1 = H_F / n$.

We have proved the following Alexandrov type theorem in [13]:

THEOREM 1.1. Let Σ be a closed oriented hypersurface embedded in the Euclidean space \mathbb{R}^{n+1} . If H_r is constant for some $r = 1, \dots, n$, then Σ is the Wulff shape, up to translations and hometheties.

In this note, we will apply the evolution method introduced by Brendle [3] to derive another proof of the Heinze-Karcher inequality (Theorem 3.1), from which Alexandrov type Theorem 1.1 follows from a standard argument via the Minkowski formula. In Section 2, we first recall hypersurfaces theory in the Euclidean space in terms of moving frames and then we prove three fundamental equations for an immersed oriented hypersurface in \mathbb{R}^{n+1} related to its anisotropic mean curvature. In Section 3, we use one of the fundamental equations obtained in Section 2 and employ the evolution method introduced by Brendle ([3]) to show the Heintz-Karcher type inequality. Then Theorem 1.1 follows from the standard argument.

2. Preliminaries and Basic Equations

For the convenience of the reader, we firstly recall the basic facts related to anisotropic mean curvature of a hypersurface in terms of moving frames. See more details in [12]. Let $x: \Sigma \to \mathbb{R}^{n+1}$ be a smooth oriented hypersurface with its Gauss map $\nu: \Sigma \to \mathbb{S}^n$. Let $\{E_1, \dots, E_n\}$ be a local orthonormal frame on \mathbb{S}^n , then $\{e_1 := E_1 \circ \nu, \dots, e_n := E_n \circ \nu\}$ is a local orthonormal frame of Σ and $e_1, \dots, e_n, e_{n+1} = \nu$ is a local orthonormal frame on \mathbb{R}^{n+1} along x. Denote the dual frames of E_i and e_i by θ_i and ω_i , respectively, and the corresponding connection forms by θ_{ij} and ω_{ij} .

Throughout this paper, we agree on the range of indices: $1 \le i, j, \dots \le n$ and $1 \le A, B, \dots \le n+1$. Recall that the structure equations of $y : \mathbb{S}^n \to \mathbb{R}^{n+1}$ are as follows:

(2.1)
$$dy = \sum_{i} \theta_{i} E_{i}, \quad dE_{i} = \sum_{j} \theta_{ij} E_{j} - \theta_{i} y,$$
$$d\theta_{i} = \sum_{j} \theta_{ij} \wedge \theta_{j}, \quad d\theta_{ij} - \sum_{k} \theta_{ik} \wedge \theta_{kj} = -\theta_{i} \wedge \theta_{j}$$

where $\theta_{ij} + \theta_{ji} = 0$. Let $F \in C^{\infty}(\mathbb{S}^n)$ be a smooth function defined on \mathbb{S}^n . With respect to the dual frame field $\theta_1, \dots, \theta_n$ of \mathbb{S}^n chosen above, the exterior derivative, the second covariant derivative and the third covariant derivative of F are defined by

(2.2)
$$dF = \sum_{i} F_{i}\theta_{i},$$
$$\sum_{j} F_{ij}\theta_{j} = dF_{i} + \sum_{j} F_{j}\theta_{ji},$$
$$\sum_{k} F_{ijk}\theta_{k} = dF_{ij} + \sum_{k} F_{ik}\theta_{kj} + \sum_{k} F_{kj}\theta_{ki},$$

respectively. It follows from (2.1) and Ricci identity that

$$F_{ijk} - F_{ikj} = F_j \delta_{ik} - F_k \delta_{ij},$$

which implies that $(F_{ij} + F\delta_{ij})_{,k} = (F_{ik} + F\delta_{ik})_{,j}$. Denote the coefficients of A_F by $A_{ij} = F_{ij} + F\delta_{ij}$, then we have

$$A_{ij,k} = A_{ik,j},$$

where

$$\sum_{k} A_{ij,k} \theta_k = dA_{ij} + A_{ik} \theta_{kj} + A_{kj} \theta_{ki}.$$

The structure equations of $x: \Sigma \to \mathbb{R}^{n+1}$ are given by

$$dx = \sum_{i} \omega_{i} e_{i},$$

$$de_{i} = \sum_{j} \omega_{ij} e_{j} + \sum_{j} h_{ij} \omega_{j} \nu, \quad d\nu = -\sum_{ij} h_{ij} \omega_{j} e_{i},$$

$$d\omega_{i} = \sum_{j} \omega_{ij} \wedge \omega_{j}, \quad d\omega_{ij} = \omega_{ik} \wedge \omega_{kj} - \frac{1}{2} R_{ijkl} \omega_{k} \wedge \omega_{l},$$

where $\omega_{in+1} = \sum_{j} h_{ij} \omega_{j}$ and $h_{ij} = h_{ji}$. Making use of (2.1), we get

$$de_i = d(E_i \circ \nu) = \nu^* dE_i = \sum_j \nu^* \theta_{ij} e_j - \nu^* \theta_i \nu,$$

thus we have

(2.3)
$$\omega_{ij} = \nu^* \theta_{ij}, \qquad \nu^* \theta_i = -\sum_j h_{ij} \omega_j.$$

Let $f \in C^{\infty}(\Sigma)$ be a smooth function defined on Σ . With respect to the dual frame field $\omega_1, \dots, \omega_n$ of Σ defined above, the exterior derivative and the second covariant derivative of f are given by

$$df = \sum_{i} f_{i}\omega_{i}, \qquad \sum_{j} f_{ij}\omega_{j} = df_{i} + \sum_{j} f_{j}\omega_{ji}.$$

Particularly, considering x and ν as smooth functions on Σ , we have

$$(2.4) x_i = e_i, x_{ij} = h_{ij}\nu,$$

(2.5)
$$\nu_i = -\sum_j h_{ij} e_j, \quad \nu_{ij} = -\sum_k h_{ikj} e_k - \sum_k h_{ik} h_{kj} \nu,$$

where h_{ijk} is defined by $\sum_k h_{ijk}\omega_k = dh_{ij} + \sum_k h_{kj}\omega_{ki} + \sum_k h_{ik}\omega_{kj}$. For a smooth positive function $F : \mathbb{S}^n \to \mathbb{R}^+$ defined on \mathbb{S}^n , $F \circ \nu$ is a

For a smooth positive function $F : \mathbb{S}^n \to \mathbb{R}^+$ defined on \mathbb{S}^n , $F \circ \nu$ is a function on Σ . We define the covariant derivatives of $(F \circ \nu)$ and $A_{ij} \circ \nu$ by

$$d(F \circ \nu) = \sum_{i} (F \circ \nu)_{i} \omega_{i},$$

$$(2.6) \qquad \sum_{j} (F_{i} \circ \nu)_{j} \omega_{j} = d(F_{i} \circ \nu) + \sum_{j} (F_{j} \circ \nu) \omega_{ji},$$

$$\sum_{k} (A_{ij} \circ \nu)_{k} \omega_{k} = d(A_{ij} \circ \nu) + \sum_{k} (A_{kj} \circ \nu) \omega_{ki} + \sum_{k} (A_{ik} \circ \nu) \omega_{kj}.$$

Taking the pull-back ν^* on both sides of equations (2.2) and using (2.3) and (2.6), we get ([12])

(2.7)
$$(F \circ \nu)_i = -\sum_j h_{ij}(F_j \circ \nu),$$

(2.8)
$$(F_i \circ \nu)_j = -\sum_k h_{jk} (F_{ik} \circ \nu),$$

(2.9)
$$(A_{ij} \circ \nu)_k = -\sum_p (A_{ijp} \circ \nu) h_{pk}.$$

Denote $S_F e_j = \sum_i s_{ij} e_i$, then $s_{ij} = \sum_l (A_{il} \circ \nu) h_{lj}$. Thus we have

(2.10)
$$s_{ijk} = -\sum_{lp} (A_{ilp} \circ \nu) h_{pk} h_{lj} + \sum_{l} (A_{il} \circ \nu) h_{ljk},$$

and

$$(2.11) s_{ijk} = s_{ikj}.$$

Let $p := \langle x, \nu \rangle$ denote the support function. The following identities were already derived in [24] in the case when the anisotropic mean curvature is constant and (2.13) has been obtained in [6]. (2.12) will play an important role in the proof of Theorem 3.1.

PROPOSITION 2.1.

(2.12)
$$\Delta_F(F \circ \nu) + \operatorname{tr}(A_F S^2)(F \circ \nu) + \langle \nabla H_F, DF|_{\nu} \rangle = \operatorname{tr}(S_F^2),$$

- (2.13) $\Delta_F \nu + \operatorname{tr}(A_F S^2) \nu + \nabla H_F = 0,$
- (2.14) $\Delta_F p + \operatorname{tr}(A_F S^2) p + H_F + \langle x, \nabla H_F \rangle = 0,$

where $\Delta_F f := \operatorname{div}(A_F \nabla f), \nabla f$ denotes the gradient of f with respect to the induced metric on Σ , $\operatorname{tr}(S_F^2) = \sum_{i,j} s_{ij} s_{ji}$ and $\operatorname{tr}(S^2) = \sum_{i,j} h_{ij}^2$.

PROOF. Making use of (2.9), (2.7), (2.8), (2.10) and (2.11), we get

$$\Delta_F(F \circ \nu) = \sum_{k,i} ((A_{ik} \circ \nu)(F \circ \nu)_k)_i$$

Hypersurfaces with Constant Anisotropic Mean Curvatures

$$= \sum_{j,i,k,p} (A_{ikp} \circ \nu) h_{pi} h_{kj} (F_j \circ \nu) - \sum_{k,i,j} (A_{ik} \circ \nu) h_{kji} (F_j \circ \nu)$$
$$- \sum_{k,i,j} (A_{ik} \circ \nu) h_{kj} (F_j \circ \nu)_i$$
$$= \sum_j (\sum_{i,k,p} (A_{ikp} \circ \nu) h_{pi} h_{kj} - \sum_{i,k} (A_{ik} \circ \nu) h_{kji}) (F_j \circ \nu)$$
$$+ \sum_{k,i,j,p} (A_{ik} \circ \nu) h_{kj} h_{ip} (F_{jp} \circ \nu)$$
$$= - \sum_j s_{iji} (F_j \circ \nu) + \sum_{k,i,j,p} (A_{ik} \circ \nu) h_{kj} h_{ip} (A_{jp} \circ \nu - (F \circ \nu) \delta_{jp})$$
$$= - \sum_j s_{iij} (F_j \circ \nu) + \sum_{i,j} s_{ij} s_{ji} - \sum_{i,j,k} (A_{ik} \circ \nu) h_{kj} h_{ij} (F \circ \nu)$$
$$= - \sum_j (H_F)_j (F_j \circ \nu) + \operatorname{tr}(S_F^2) - \operatorname{tr}(A_F S^2) F \circ \nu.$$

This proves (2.12).

By (2.9), (2.5), (2.10) and direct calculations, we get

$$\begin{split} \Delta_F \nu &= \sum_{k,i} ((A_{ik} \circ \nu)\nu_k)_i \\ &= \sum_{i,k,p,l} (A_{ikp} \circ \nu)h_{pi}h_{kl}e_l - \sum_{i,k,p} (A_{ik} \circ \nu)(h_{kip}e_p + h_{ip}h_{pk}\nu) \\ &= -\sum_l s_{iil}e_l - \sum_{i,k,p} (A_{ik} \circ \nu)h_{kp}h_{pi}\nu \\ &= -\sum_l (H_F)_le_l - \operatorname{tr}(A_F S^2)\nu, \end{split}$$

which immediately verifies (2.13).

It follows from $dp = \langle x, d\nu \rangle = \langle x, \nu_i \omega_i \rangle$ that $p_i = \langle x, \nu_i \rangle$. Using (2.4) and (2.5), we get

$$p_{ij} = \langle x, \nu_i \rangle_j = \langle e_j, -h_{ik}e_k \rangle + \langle x, -h_{ijk}e_k - h_{ik}h_{kj}\nu \rangle$$
$$= -h_{ij} - h_{ijk}\langle x, e_k \rangle - h_{ik}h_{kj}p.$$

Together with (2.9) and (2.10), it yields

$$\begin{aligned} \Delta_F p &= \sum_{i,k} ((A_{ik} \circ \nu) p_k)_i \\ &= \sum_{i,k,q,l} (A_{ikq} \circ \nu) h_{qi} h_{kl} \langle x, e_l \rangle \\ &\quad -\sum_{i,k,q} (A_{ik} \circ \nu) (h_{ki} + h_{kiq} \langle x, e_q \rangle + h_{kq} h_{qi} p) \\ &= -\sum_l s_{iil} \langle x, e_l \rangle - H_F - \operatorname{tr}(A_F S^2) p \\ &= -\langle x, \nabla H_F \rangle - H_F - \operatorname{tr}(A_F S^2) p, \end{aligned}$$

which completes the proof of (2.14). \Box

The following Minkowski formula and its higher order version were obtained in [11] and [12].

PROPOSITION 2.2. Let Σ be a closed orientable hypersurface immersed in \mathbb{R}^{n+1} . Then

$$\int_{\Sigma} (nF \circ \nu + H_F \langle x, \nu \rangle) dA = 0.$$

More generally,

(2.15)
$$\int_{\Sigma} (H_r F \circ \nu + H_{r+1} \langle x, \nu \rangle) dA = 0$$

for $r = 0, 1, \cdots, n - 1$.

3. Heintze-Karcher Type Inequality

Consider a closed orientable hypersurface Σ embedded in \mathbb{R}^{n+1} . Denote by ν the inner unit normal vector field to Σ . Assume that the anisotropic mean curvature H_F with respect to the inner normal ν is everywhere positive on Σ . Suppose that there exists a domain $\Omega \subset \mathbb{R}^{n+1}$ such that $\partial \Omega = \Sigma$.

Given a smooth positive F with convexity condition, we can associate the dual norm $F^* : \mathbb{R}^{n+1} \to \mathbb{R}$ defined by ([19], [13])

$$F^*(x) = \sup\{\frac{\langle x, z \rangle}{F(z)} | z \in \mathbb{S}^n\}.$$

Then we can define the *F*-distance function $d_F : \mathbb{R}^{n+1} \times \mathbb{R}^{n+1} \to \mathbb{R}$ to be $d_F(x,y) = F^*(y-x)$. Note that in general $d_F(x,y) \neq d_F(y,x)$ and when $F \equiv 1, d_F$ is the Euclidean distance function d.

For each $p \in \Omega$, let $\rho_F(p) = d_F(\Sigma, p)$ be the *F*-distance of *p* from Σ . Then the level set of ρ_F can be expressed as

$$\Sigma_t := \{ p \in \Omega | \rho_F(p) = t \}$$
$$= \{ \Phi(x,t) = x + t\nu_F(x) | x \in \Sigma \}$$

for t is small enough. Remark that for fixed t,

$$d\Phi(x,t) = (I - tS_F) \circ dx$$

Compactness of Σ guarantees that there exists $\epsilon > 0$, such that $\Phi(x, t)$ remains an immersed hypersurface if $|t| < \epsilon$. Moreover, up to parallel translations, ν is still the unit normal vector field of $\Phi(x, t)$. Define $c : \Sigma \to$ $(0, +\infty)$ to be the *F*-cut function of Σ satisfying c(x) is the greatest *t* such that $d_F(\Sigma, x + t\nu_F(x)) = t$ (See [13]). The point $\Phi(x, t)$ on Σ_t satisfies

(3.1)
$$\frac{\partial}{\partial t}\Phi(x,t) = \nu_F =: f\nu + \xi,$$

and Σ_t will disappear at the time $T = max_{\Sigma}c(x)$, where f is a smooth function defined on $\Sigma \times I \subset \Sigma \times \mathbb{R}$ and ξ is tangent to Σ_t . Remark that the anisotropic normal $\nu_F = \phi \circ \nu = F(\nu)\nu + DF|_{\nu}$. So $f = F(\nu)$ and $\xi = DF|_{\nu}$ in (3.1).

PROPOSITION 3.1. Under the flow (3.1), we have the following evolution equations:

$$\begin{split} &\frac{\partial}{\partial t} dA_t = (\operatorname{div} \xi - nHf) dA_t, \\ &\frac{\partial \nu}{\partial t} = -\nabla f + d\nu(\xi), \\ &\frac{\partial}{\partial t} F \circ \nu_t = \langle DF(\nu_t), -\nabla f + d\nu_t(\xi) \rangle, \\ &\frac{\partial}{\partial t} H_F = \Delta_F f + \operatorname{tr}(A_F S^2) f + \langle \nabla H_F, \xi \rangle \end{split}$$

PROOF. In fact, the first three equations are classical results and the last one follows from Lemma 2.1 of [12] or (4.20) in [6]. \Box

Define

$$Q(t) := n \int_{\Sigma_t} \frac{F \circ \nu_t}{H_F} dA_t.$$

From the identities in Proposition 3.1, we have

$$\frac{1}{n}Q'(t) = \int_{\Sigma_t} \{f \operatorname{div}(\frac{1}{H_F}DF|_{\nu_t}) - \operatorname{div}(\frac{f}{H_F}DF|_{\nu_t}) + \operatorname{div}(\frac{F \circ \nu_t}{H_F}\xi) \\ - \frac{f}{H_F}nH(F \circ \nu_t) - \frac{F \circ \nu_t}{H_F^2}(\Delta_F f + \operatorname{tr}(A_F S^2)f)\}dA_t.$$

Thus by the divergence theorem and the definition of H_F (1.1) we get

$$\begin{aligned} \frac{1}{n}Q'(t) &= \int_{\Sigma_t} \{f\langle \nabla \frac{1}{H_F}, DF \circ \nu_t \rangle + \frac{f}{H_F}[\operatorname{div}(DF \circ \nu_t) - nHF \circ \nu_t] \\ &- \frac{F \circ \nu_t}{H_F^2} [\Delta_F f + \operatorname{tr}(A_F S^2) f] \} dA_t \\ &= \int_{\Sigma_t} \{-\frac{f}{H_F^2} \langle \nabla H_F, DF \circ \nu_t \rangle \\ &- f - \frac{F \circ \nu_t}{H_F^2} [\Delta_F f + \operatorname{tr}(A_F S^2) f] \} dA_t. \end{aligned}$$

Now taking into account that $f = F \circ \nu_t$ and (2.12), we get

$$\begin{aligned} \frac{1}{n}Q'(t) &= \int_{\Sigma_t} \{-\frac{F \circ \nu_t}{H_F^2} [\langle \nabla H_F, DF \circ \nu_t \rangle + \Delta_F(F \circ \nu_t) \\ &+ \operatorname{tr}(A_F S^2) F \circ \nu_t] - F \circ \nu_t \} dA_t \\ &= -\int_{\Sigma_t} (\frac{\operatorname{tr}(S_F^2)}{H_F^2} + 1) F \circ \nu_t dA_t \\ &\leq -(1 + \frac{1}{n}) \int_{\Sigma_t} F \circ \nu_t dA_t < 0, \end{aligned}$$

where we have used $\frac{\operatorname{tr}(S_F^2)}{H_F^2} \geq \frac{1}{n}$ and the equal sign holds if and only if $S_F = \frac{H_F}{n}$ Id. This shows that Q(t) is monotone decreasing.

For $0 < \tau < T$,

$$Q(0) - Q(\tau) = -\int_0^\tau Q'(t)dt \ge (n+1)\int_0^\tau \int_{\Sigma_t} F \circ \nu_t dAdt$$
$$= (n+1)\int_{\Omega \cap \{\rho_F \le \tau\}} dV,$$

where the last equality follows from the co-area formula. Let $\tau \to T$. Then we obtain the following Heintze-Karcher type integral inequality that one can find also in [13] where it was proved using the ideas of [18].

THEOREM 3.1. Let $x : \Sigma \to \mathbb{R}^{n+1}$ be a closed hypersurface embedded into the Euclidean space. If the anisotropic mean curvature H_F with respect to the inner normal ν is everywhere positive on Σ , then we have

(3.2)
$$n \int_{\Sigma} \frac{F \circ \nu}{H_F} dA \ge (n+1)V(\Omega),$$

where $V(\Omega)$ is the volume of the compact domain Ω determined by Σ . Moreover, the equality holds if and only if Σ is anisotropic umbilical.

Once we have Minkowski formula (2.15), Heintze-Karcher type inequality (3.2) and the characterization for the anisotropic umbilical hypersurfaces in \mathbb{R}^{n+1} (Lemma 1.1), it is straightforward to prove the Alexandrov type theorem 1.1 by the standard argument ([18], [13]).

Acknowledgements. This project was partially supported by National Natural Foundation of China (No. 11271213) and Tsinghua-K.U. Leuven Bilateral Scientific Cooperation Fund. The authors would like to thank Professors Haizhong Li, Xiang Ma, Chia-Kuei Peng and Hui-Chun Zhang for their interest and helpful comments on this work.

References

- Alexandrov, A. D., Uniqueness theorems for surfaces in the large I., Vesnik Leningrad Univ. 11 (1956), 5–17.
- [2] Andrews, B., Volume-preserving anisotropic mean curvature flow, Indiana Univ. Math. J. 50 (2001), 783–827.

- [3] Brendle, S., Constant mean curvature surfaces in warped product manifolds, Publ. Math. IHES **117** (2013), 247–269.
- [4] Brendle, S. and M. Eichmair, Isoperimetric and Weingarten surfaces in the Schwarzschild manifold, J. Diff. Geom. 94 (2013), no. 3, 387–407.
- [5] Brothers, J. E. and F. Morgan, The isoperimetric theorem for general integrands, Michigan Math. J. 41 (1994), 419–431.
- [6] Clarenz, U. and H. von der Mosel, On surfaces of prescribed F-mean curvature, Pacific J. Math. 213 (2004), 15–36.
- [7] Daniel, B. and P. Mira, Existence and uniqueness of constant mean curvature spheres in *Sol*₃, arXiv:0812.3059v2 (2009).
- [8] Fonseca, I. and S. Müller, A uniqueness proof for the Wulff theorem, Proc. Roy. Soc. Edinburgh A. 119 (1991), 125–136.
- [9] Giga, Y., Surface Evolution Equations: A Level Set Approach, 99, Monographs in Mathematics, Birkhauser Verlag, Basel-Boston-Berlin (2006).
- [10] Hajazi, O., Montiel, S. and X. Zhang, Dirac operator on embedded hypersurfaces, Math. Res. Lett. 8 (2001), 195–208.
- [11] He, Y. J. and H. Li, Integral formula of Minkowski type and new characterization of the Wulff shape, Acta Math Sinica **24** (2008), 697–704.
- [12] He, Y. J. and H. Li, A new variational characterization of the Wulff shape, Diff. Geom. Appl. 26 (2008), 377–390.
- [13] He, Y. J., Li, H., Ma, H. and J. Q. Ge, Compact embedded hypersurfaces with constant higher order anisotropic mean curvatures, Indiana Univ. Math. J. 58 (2009), 853–868.
- [14] Hsiang, W.-T. and W.-Y. Hsiang, On the uniqueness of isoperimetric solutions and imbedded soap bubbles in non-compact symmetric spaces, I, Invent. Math. 98 (1989), 39–58.
- [15] Koiso, M. and B. Palmer, Geometry and stability of surfaces with constant anisotropic mean curvature, Indiana Univ. Math. J. 54 (2005), 1817–1852.
- [16] Koiso, M. and B. Palmer, Anisotropic umbilic points and Hopf's Theorem for surfaces with constant anisotropic mean curvature, Indiana Univ. Math. J. 59 (2010), 79–90.
- [17] Montiel, S., Unicity of constant mean curvature hypersurfaces in some Riemannian manifolds, Indiana Univ. Math. J. 48 (1999), 711–748.
- [18] Montiel, S. and A. Ros, The Alexandrov theorem for higher order mean curvatures, Proceedings conference in honour of Manfredo do Carmo, Pitman Survey in Pure and Appl. Math. 52 (1991), 280–296.
- [19] Morgan, F., Riemannian Geometry, A Beginner's Guide, A K Peters, Wellesley, MA (1998).
- [20] Palmer, B., Stability of the Wulff shape, Proc. Amer. Math. Soc. 126 (1998), 3661–3667.
- [21] Reilly, R., Applications of the Hessian operator in a Riemannian manifold, Indiana Univ. Math. J. 26 (1977), 459–472.

- [22] Ros, A., Compact hypersurfaces with constant higher order mean curvatures, Rev. Mat. Iberoamericana **3** (1987), 447–453.
- [23] Taylor, J., Crystalline variational problems, Bull. Amer. Math. Soc. 84 (1978), 568–588.
- [24] Winklmann, S., A note on the stability of the Wulff shape, Arch. Math. (Basel) 87 (2006), 272–279.

(Received April 9, 2013) (Revised June 24, 2013)

> Department of Mathematical Sciences Tsinghua University Beijing 100084, P. R. CHINA E-mail: hma@math.tsinghua.edu.cn xiongcw10@mails.tsinghua.edu.cn